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1. Find the perimeter of each of the following

figures:


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hE3YBjNTlkUS

(i) Figure (ii) Figure (iii) Figure

o Watch Video Solution

2. Which of the following are closed curves?

Which of them are simple?

° Watch Video Solution

3. Define perimeter of a closed figure.

° Watch Video Solution



https://dl.doubtnut.com/l/_hE3YBjNTlkUS
https://dl.doubtnut.com/l/_MaQqnBfNh3Yo
https://dl.doubtnut.com/l/_wa329BzB3gxb

4. Find the perimeter of each of the following

shapes: Figure

o Watch Video Solution

5. Find the perimeter of a rectangle whose
length and breadth are 25m and 15m

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_fY2zpYxda53A
https://dl.doubtnut.com/l/_vgZPPkbHZsUE

6. Find the breadth of the rectangle whose
perimeter is 360cm and whose length is

100cm.

o Watch Video Solution

7.Find the perimeter of a square whose side is

5cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_G23lPqdrQmDL
https://dl.doubtnut.com/l/_ygxvrKtco5Az

8. Find the side of a square whose perimeter is

100cm.

o Watch Video Solution

9. Pinky runs around a square field of side 7bm
, Bobby runs around a rectangular field with
length 160m and breadth 105m. Who covers

more distance by how much?

A. Bobby; 530m

B. Pinky; 300m


https://dl.doubtnut.com/l/_JNDfgNffuDyM
https://dl.doubtnut.com/l/_AR1tL4QB57CU

C. Bobby; 230m

D. Pinky; 230m

Answer: C

o Watch Video Solution

10. Find the cost of fencing a rectangular park
of length 300m and breadth 200m at the rate

of Rs. 24 per meter.

A. Rs. 15000


https://dl.doubtnut.com/l/_AR1tL4QB57CU
https://dl.doubtnut.com/l/_yXBlyZdPJ7vR

B. Rs. 24000

C. Rs. 1000

D. Rs. 20000

Answer: B

o Watch Video Solution

1. Find the cost of fencing a square park of

side 300m at the rate of Rs. 20 per metre.

o Watch Video Solution



https://dl.doubtnut.com/l/_yXBlyZdPJ7vR
https://dl.doubtnut.com/l/_l7LDtEH1jhh2

12. Kamla and Shakeela go for jogging every
morning. Kamla goes around a square field of
side 200m. Shakeela goes around a
rectangular field of length 300m and breadth
110m. If they both take 3 rounds, who covers

the greater distance and how much more?

o Watch Video Solution

13. Two boxes have to fit in a square arena of

side 30m. Four poles are stuck into the


https://dl.doubtnut.com/l/_4LzIhZRkYzOo
https://dl.doubtnut.com/l/_8eCvfjE60Awy

ground at the four corners of the arena. A
rope fence is to be put around the poles to
keep the spectators away. What length of rope
will be required if 2m are required for tying
the knots?

A.122m

B. 120m

C.132m

D.118m

Answer: A

| 8


https://dl.doubtnut.com/l/_8eCvfjE60Awy

14. How many rectangles can be drawn with
36cm as the perimeter, given that the sides are

positive integers in cm?

o Watch Video Solution

15. The length of a rectangular field is twice its
breadth. A man jogged around it 5 times and
covered a distance of 3km. What is the length

of the field?



https://dl.doubtnut.com/l/_8eCvfjE60Awy
https://dl.doubtnut.com/l/_5l3IMtlxhGFU
https://dl.doubtnut.com/l/_KD2mfUOc3UKF

l o Watch Video Solution

16. Find the perimeter of each of the following
shapes: a) An equilateral triangle of side 9cm.
b) An isosceles triangle with equal side 8cm
each and third side 6cm. c¢) An isosceles
triangle ABC, with AB = AC = 10cm and
altitude from A on BC equal to 8cm. d) A
regular hexagon with each side measuring

8cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_KD2mfUOc3UKF
https://dl.doubtnut.com/l/_ajPAYDRBYxrY

17. Find the perimeters of the rectangles
whose lengths and breadths are given below:
7cm, 5cm (i)  5cm, 4cm (iii)) 7.5cm,

4.5cm

° Watch Video Solution

18. Find the perimeters of the squares whose
sides are given below: 10cm  (ii) 5cm (iii)

115.5¢cm

° Watch Video Solution



https://dl.doubtnut.com/l/_S2UP6fPPSdex
https://dl.doubtnut.com/l/_T3RNgAAKZZkd

19. Find the side of the square whose

perimeter is: 16m (i) 40cm (iii) 22cm

o Watch Video Solution

20. Find the breadth of the rectangle whose
perimeter is 360cm and whose length is (i)

116cm (i) 140cm (iii) 102cm

o Watch Video Solution



https://dl.doubtnut.com/l/_T3RNgAAKZZkd
https://dl.doubtnut.com/l/_nka9omVotYsk
https://dl.doubtnut.com/l/_mC4Uub0SNiT9
https://dl.doubtnut.com/l/_DRy2rpXGb83R

21. Arectangular piece of lawn is 55m wide and
98m long. Find the length of the fence around

it.

o Watch Video Solution

22. The side of a square field is 65m. What is

the length of the fence required all around it?

° Watch Video Solution



https://dl.doubtnut.com/l/_DRy2rpXGb83R
https://dl.doubtnut.com/l/_OeEZ3qPU0nsQ

23. Two sides of a triangle are 15cm and 20cm.
The perimeter of the triangle is 50cm. What is

the third side?

o Watch Video Solution

24. A wire of length 20m is to be folded in the
form of a rectangle. How many rectangles can
be formed by folding the wire if the sides are

positive integers in metres?

o Watch Video Solution



https://dl.doubtnut.com/l/_ONpVwrCxEbnm
https://dl.doubtnut.com/l/_Y0a6seEhzszB

25. A square piece of land has each side equal
to 100m. If 3 layers of metal wire has to be
used to fence it, what is the length of the wire
needed?

A. 800m

B. 1200m

C. 2000m

D. 1600m

Answer: B



https://dl.doubtnut.com/l/_Y0a6seEhzszB
https://dl.doubtnut.com/l/_DhYWkgGeX1cl

o Watch Video Solution

26. Shikha runs around a square of side 75m.
Priya runs around a rectangle with length 60m
and breadth 45m. Who covers the smaller

distance?

o Watch Video Solution

27. The dimensions of a photographs are
30cm X 20cm- What length of wooden frame

is needed to frame the picture?


https://dl.doubtnut.com/l/_DhYWkgGeX1cl
https://dl.doubtnut.com/l/_oP2exNOhnu2E
https://dl.doubtnut.com/l/_FRDnrp2JhYH6

° Watch Video Solution

28.The length of a rectangular field is 100m. If

its perimeter is 300m, what is its breadth?

o Watch Video Solution

29. To fix fence wires in a garden, 70m long
and 50m wide, Arvind bought metal pipes for

bosts. He fixed a post every 5 metres apart.


https://dl.doubtnut.com/l/_FRDnrp2JhYH6
https://dl.doubtnut.com/l/_r1HKT8sjBx1E
https://dl.doubtnut.com/l/_NU74XQKhQ7KI

Each post was 2m long. What is total length of

the pipes he bought for the posts?

° Watch Video Solution

30. Find the cost of fencing a rectangular park
of length 1775m and breadth 125m at the rate

of Rs. 12 per meter.

° Watch Video Solution



https://dl.doubtnut.com/l/_NU74XQKhQ7KI
https://dl.doubtnut.com/l/_vjlymcrEr09e

31. The perimeter of a regular pentagon is

100cm. How long is each side?

o Watch Video Solution

32. Find the perimeter of a regular hexagon

with each side measuring 8 m.

o Watch Video Solution



https://dl.doubtnut.com/l/_8njXWkShf7Ng
https://dl.doubtnut.com/l/_KQMm386wcRXA

33. A rectangular piece of land measure 0.7km
by 0.5km. Each side is to be fenced with four
rows of wires. What length of the wire is

needed?

° Watch Video Solution

34. Avneet buys 9 square paving slabs, each

1
with a side of 2

° Watch Video Solution



https://dl.doubtnut.com/l/_HphgHPltHPjp
https://dl.doubtnut.com/l/_OPKUnR1K9Q0h
https://dl.doubtnut.com/l/_yILwOPH2sAwY

35. Find the perimeter of each of the following

shapes:

o Watch Video Solution

36. Find the areas of the following figures by

counting square.

o Watch Video Solution



https://dl.doubtnut.com/l/_yILwOPH2sAwY
https://dl.doubtnut.com/l/_0qRsMhAW6nkl

37. Calculate the area of the figure if each

2

square is lcm

o Watch Video Solution



https://dl.doubtnut.com/l/_OdGKCpqlLX8I

38. On a squared paper, draw (i) a rectangle,
(i) a triangle (iii) any irregular closed figure.
Find the approximate area of each by counting
the number of squares complete, more than

half and exactly half.

o Watch Video Solution

39. Draw any circle on the graph paper. Count
the squares and use them to estimate the

area of the circular region.

| & |


https://dl.doubtnut.com/l/_UvtpRTYHLCLw
https://dl.doubtnut.com/l/_32pfN0h8pb9Y

| ¥ Watch Video Solution |

40. Find the areas of the following figures by

counting square:

o Watch Video Solution

41.Find the area of a rectangle, whose Length
= 4cm, breadth = 2cm. Length = 6.4cm, breadth

=5cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_32pfN0h8pb9Y
https://dl.doubtnut.com/l/_Qfo1RAfYpJIS
https://dl.doubtnut.com/l/_nkZYZZ3Wdp94

42. Find the area of a rectangle if its length
and breadth are 28cm and 120mm,

respectively.

o Watch Video Solution

43. Find the area of a square whose side is

5cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_viZgAFGhpuYP
https://dl.doubtnut.com/l/_iofRLyI14Y0K

44, Find the area of a square whose side is

63mm.

o Watch Video Solution

45. The area of a rectangle is 240 cm?. If its

length is 20cm, find its breadth.

o Watch Video Solution



https://dl.doubtnut.com/l/_9cVldvNfqoyr
https://dl.doubtnut.com/l/_Vb2AZKwS7Nu5

46. Find the perimeter of a rectangle whose

area is 650 cm? and its breadth is 13cm.

° Watch Video Solution

47. What will happen to the area of a rectangle
if (i)its length is doubled and breadth is

tripled. (ii)its length and breadth are doubled?

° Watch Video Solution



https://dl.doubtnut.com/l/_1WDVm5nATZG5
https://dl.doubtnut.com/l/_qUtDu3YjgoGz

48. What will happen to the area of a square if
its side is:
(i) doubled

(ii) halved?

° Watch Video Solution

49. A marble tile measures 25cm by 20cm. How
many tiles will be required to cover a wall of

size 4m by 3m?

° Watch Video Solution



https://dl.doubtnut.com/l/_QBlNLhMFtJCX
https://dl.doubtnut.com/l/_4SUGNGWhudQf

50. One side of a square plot is 300m. Find its
area. Also, find the cost of levelling it, if the

rate for levelling is Rs. 0.50 per square metre.

o Watch Video Solution

51. The floor of a rectangular hall is to be
covered with a carpet 150cm wide. If the
length and breadth of the hall are 20m and
18m, respectively, find the cost of the carpet at

the rate of Rs. 10 per metre.


https://dl.doubtnut.com/l/_4SUGNGWhudQf
https://dl.doubtnut.com/l/_CLCZsOsxwxFm
https://dl.doubtnut.com/l/_ehUquZorDqTG

° Watch Video Solution

52. The total cost of flooring a room at Rs. 8.50
per square metre is Rs. 510. If the length of the

room is 8 metres, find its breadth.

° Watch Video Solution

53. Find the perimeter of a rectangular field

whose length is four times its width and which

has an area equal to 30976 cm?.

| e |


https://dl.doubtnut.com/l/_ehUquZorDqTG
https://dl.doubtnut.com/l/_Z8GIq6n2vNoS
https://dl.doubtnut.com/l/_k5ZpGg9GG3J0

& Wwatch Video Solution I

54. Ravish wants to cover his room which is 3
m wide and 4 m long by squared tiles. If each
square tiles is of side 0.5 m, then find the
number of tiles required to cover the floor of

his room.

° Watch Video Solution

55.Find the area of a rectangle, whose Length

= 6cm, breadth = 3cm Length = 8cm, breadth =


https://dl.doubtnut.com/l/_k5ZpGg9GG3J0
https://dl.doubtnut.com/l/_7vHv35mFlmCj
https://dl.doubtnut.com/l/_YEkB2SpGfJU5

3cm Length = 4.5 cm, breadth = 2cm.

o Watch Video Solution

56. Find the area of a square whose side is:
5cm (i) 4.1cm (ili) 5.5cm (iv)

2.6cm

o Watch Video Solution

57. The area of a rectangle is 49cm? and its

breadth is 2.8cm. Find the length of the


https://dl.doubtnut.com/l/_YEkB2SpGfJU5
https://dl.doubtnut.com/l/_aUkGx38GQNnm
https://dl.doubtnut.com/l/_p5Dd9f8Cbdm5

rectangle.

o Watch Video Solution

58. The side of a square is 70cm. Find its area

and perimeter.

° Watch Video Solution

59, The area of a rectangle is 225¢m? and its

one side is 25cm, find its other side.

o Watch Video Solution



https://dl.doubtnut.com/l/_p5Dd9f8Cbdm5
https://dl.doubtnut.com/l/_UmCxYt92xSAu
https://dl.doubtnut.com/l/_nsHFpZkfdnHR

60. What will happen to the area of a
rectangle if its (i)Length and breadth are
tripled. (i))Length is doubled and breadth is
same. (iii)Length is doubled and breadth is

halved.

o Watch Video Solution

61. What will happen to the area of a square if

its side is: (i)Tripled (i) increased by half


https://dl.doubtnut.com/l/_nsHFpZkfdnHR
https://dl.doubtnut.com/l/_5lJT2Z4lX6Zo
https://dl.doubtnut.com/l/_ZRk7ARKtAAq2

of it

o Watch Video Solution

62. Find the perimeter of a rectangle whose

area is 500cm? and breadth is 20cm.

° Watch Video Solution

63. A rectangle has the area equal to that of a
square of side 80cm. If the breadth of the

rectangle is 20cm, find its length.


https://dl.doubtnut.com/l/_ZRk7ARKtAAq2
https://dl.doubtnut.com/l/_2c5g2e5p6PVi
https://dl.doubtnut.com/l/_XqwD9mB9FdTB

° Watch Video Solution

64. Area of a rectangle of breadth 17cm is

340cm?. Find the perimeter of the rectangle.

o Watch Video Solution

65. A marble tile measures 15¢m X 20cm.
How many tiles will be required to cover a wall

of sizedm x 6m?

o Watch Video Solution



https://dl.doubtnut.com/l/_XqwD9mB9FdTB
https://dl.doubtnut.com/l/_pnd9L3ny4mAW
https://dl.doubtnut.com/l/_2XVVNCP5nLoq

66. A marble tile measures 10 cm X 12 cm.
How many tiles will be required to cover a wall
of size3m X 4 m ? Also, find the total cost

of the tiles at the rate of Rs 2 per tile.

° Watch Video Solution

67. One side of a square plot is 250m, find the
cost of levelling it at the rate of Rs. 2 per

square metre.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_2XVVNCP5nLoq
https://dl.doubtnut.com/l/_dCwDkBcmoG7R
https://dl.doubtnut.com/l/_yvTSCMa0DKXO

68. Split the following shapes into squares and
find their areas. (The measures are given in

centimetres)

° Watch Video Solution

69. Split the following shapes into rectangles
and find the area of each (The measures are
given in centimetres)

(i)Figure (i) Figure (iii) Figure



https://dl.doubtnut.com/l/_yvTSCMa0DKXO
https://dl.doubtnut.com/l/_rqmMlKb7WBKE
https://dl.doubtnut.com/l/_NrsYkFb9SHTE

Watch Video Solution

70. How many tiles whose length and breadth
are 12 cm and 5 cm respectively will be needed
to fit in a rectangular region whose length and
breadth are respectively:

(a) 100 cm and 144 cm

(b) 70 cm and 36 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_NrsYkFb9SHTE
https://dl.doubtnut.com/l/_MHRtthwnaUDv

71. The sides of a rectangle are in the ratio 5:4.
If its perimeter is 72cm, then its length is

(a)40cm (b)20cm (c)30cm (d) 60cm

o Watch Video Solution

72.The cost of fencing a rectangular field 34m
long and 18m wide at Rs. 2.25 per metre is Rs.

243  (b) Rs.234 (c) Rs.240 (d) Rs.334

o Watch Video Solution



https://dl.doubtnut.com/l/_EeNsCFCleanr
https://dl.doubtnut.com/l/_I9yw4Kv3jdW2
https://dl.doubtnut.com/l/_36m0DUEaTRtS

73. The cost of putting a fence around a
square field at Rs. 2.50 per metre is Rs. 200.
The length of each side of the field is:
80m (b) 40m (c) 20m (d) None of

these

o Watch Video Solution

74. The length of a rectangle is three times of
its width. If the length of the diagonal is

8,/10m, then the perimeter of the rectangle


https://dl.doubtnut.com/l/_36m0DUEaTRtS
https://dl.doubtnut.com/l/_Ors71FXCyk7W

is: (a) 154/10 m (b) 164/10 m (c) 24,/10 m (d)

64dm

° Watch Video Solution

75. If a diagonal of a rectangle is thrice its
smaller side, then its length and breadth are

in the ratio



https://dl.doubtnut.com/l/_Ors71FXCyk7W
https://dl.doubtnut.com/l/_aodxjUQZ8TWj

& Wwatch Video Solution I

76. The ratio of the areas of two squares, one
having its diagonal double than the other, is

(a) 1:2

o Watch Video Solution



https://dl.doubtnut.com/l/_aodxjUQZ8TWj
https://dl.doubtnut.com/l/_HqzjSA3zOJJF

77. If the ratio of areas of two squares is
225:256, then the ratio of their perimeters is
(a) 225:256 (b) 256:225  (c) 15:16  (d)

16:15

o Watch Video Solution

78. If the side of a square are halved, then its
area

(a) remains same

(b) becomes half


https://dl.doubtnut.com/l/_TerNnNsFsjXT
https://dl.doubtnut.com/l/_m2NJnYmnURLc

(c) becomes one fourth

(d) becomes double

° Watch Video Solution

79. A rectangular carpet has area 120m? and
perimeter 46 metres. The length of its

diagonals is 15m (b) 16m (c) 17m (d) 20m

° Watch Video Solution



https://dl.doubtnut.com/l/_m2NJnYmnURLc
https://dl.doubtnut.com/l/_3kEMOGHSnxzZ

80. If the ratio between the length and the
perimeter of a rectangular plot is 1:3, then the
ratio between the length and breadth of the
plot is

(a) 1:2

(d) 2:3

o Watch Video Solution



https://dl.doubtnut.com/l/_atkT476iJRVs

81. If the length of the diagonal of a square is
20cm, then its perimeter is

(a)104/2 cm

(b) 40cm

(c) 40\/5 cm

(d) 200cm

o Watch Video Solution

82. If the perimeter of a square is 40cm, then

the length of its each side is 20cm (b)


https://dl.doubtnut.com/l/_9BfnvYCJbvIe
https://dl.doubtnut.com/l/_DRHKZmqnccJc

10cm  (c) 5cm (d) 40cm

o Watch Video Solution

83. The area of a square of side 14cm is
(a)49cm”

(b) 156cm*

(c) 56cm?

(d) 196 cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_DRHKZmqnccJc
https://dl.doubtnut.com/l/_l6g0FkhXOaqw

84. The length of the diagonal of a square is
20cm. Its area is (a)4OOcm2 (b) 200cm?

(¢)300cm? (d) 1004/2 cm?

o Watch Video Solution

85. The length and breadth of a rectangle of
area A are doubled. The area of the new
rectangle is

(@) 24

(b) A2


https://dl.doubtnut.com/l/_FKX1y2mPSHk8
https://dl.doubtnut.com/l/_b4Z4z37LOBeW

(c) 4A

(d) None of these

° Watch Video Solution

86. The perimeter of the square is 64m. then

the side of the square is:

o Watch Video Solution

87. The perimeter of a square whose area is

225 m? is: (a) 15m (b) 60m (c) 225m (d) 30m


https://dl.doubtnut.com/l/_b4Z4z37LOBeW
https://dl.doubtnut.com/l/_5nbX9tjjhiWd
https://dl.doubtnut.com/l/_5vqihA2XD7ao

° Watch Video Solution

88. The area of a rectangle is 650cm? and its
breadth is 13cm. The perimeter of the
rectangle is 63cm (b) 130cm (c) 100cm (d)

126cm

o Watch Video Solution

89. How many envelops can be made out of a

sheet of paper 72cm by 48cm, if each envelope


https://dl.doubtnut.com/l/_5vqihA2XD7ao
https://dl.doubtnut.com/l/_IFgQuE1RgXjY
https://dl.doubtnut.com/l/_KnGbrw8zHIOn

requires a paper of size 18cm by 12cm? (a)

4 (b) 8 (c)12 (d) 16

° Watch Video Solution

90. If the diagonal of a square is /8 metre,
then its area is:

(a) 8 m?

o Watch Video Solution



https://dl.doubtnut.com/l/_KnGbrw8zHIOn
https://dl.doubtnut.com/l/_ODyPnnzBCOE5

91. Find the perimeter of each of the following
shapes:

(a) Atriangle of sides 3 cm, 4 cm, and 5 cm.

(b) An equilateral triangle of side 9 cm.

(c) An isosceles triangle with equal sides 8 cm

each and third side 6 cm.

o Watch Video Solution

92. The area of a rectangular ground is 120m?

and its length is 12m. Find the cost of fencing


https://dl.doubtnut.com/l/_ODyPnnzBCOE5
https://dl.doubtnut.com/l/_3tHgTQ0Ej4HV
https://dl.doubtnut.com/l/_d9ULodpatFjC

the ground at the rate of Rs. 125 per metre.

o Watch Video Solution

93. Find the perimeter of the following figure:

o Watch Video Solution

94. A room is 8m long and 6m wide. Its floor is
to be covered with rectangular tiles of size

25cm by 20cm. How many tiles will be


https://dl.doubtnut.com/l/_d9ULodpatFjC
https://dl.doubtnut.com/l/_OI63xoXLHgCh
https://dl.doubtnut.com/l/_0SBhucaWs0d4

required? Find the cost of these tiles at Rs. 25

per tile.

° Watch Video Solution

95. The length and breadth of a rectangular
park are in the ratio 5:3 and its perimeter is

128m. Find the area of the park.

° Watch Video Solution



https://dl.doubtnut.com/l/_0SBhucaWs0d4
https://dl.doubtnut.com/l/_0oSzKO88FDUi

96. The total cost of flooring a room at Rs.85
per m? is Rs.5100. If the length of the room is
8 meters, find its breadth.

A. 8.5m

B.7.0m

C.7.5m

D.9.5m

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Zv9IJ5fvqOIk

97. A square sheet of side 5cm is cut out from
a rectangular piece of an aluminium sheet of
length 9cm and breadth 6cm. What is the area

of the aluminium sheet left over?

° Watch Video Solution

98. Find the perimeter of each of the following

shapes:

o Watch Video Solution



https://dl.doubtnut.com/l/_aVgQVEn1YHSZ
https://dl.doubtnut.com/l/_zBSzTidVkXUJ
https://dl.doubtnut.com/l/_jzyNQMEnxc0k

99. A square sheet of 2cm is cut from each
corner of a rectangular piece of aluminium
sheet of length 12cm and breadth 8cm. Find

the area of the left over aluminium sheet.

o Watch Video Solution

100. A room is 125 m long and 8m wide. A
square carpet of side 8m is laid on its floor.
Find the area of the floor which is not

carpeted.

o Watch Video Solution



https://dl.doubtnut.com/l/_jzyNQMEnxc0k
https://dl.doubtnut.com/l/_CoSoIAkDUMk9

101. The area of a square field is 36 m?. A path
of uniform width is laid around and outside of
it. If the area of the path is 28 m?, then find

the width of the path.

° Watch Video Solution

102. The perimeter of a square 16cm, then its

area is ... cm”.

o Watch Video Solution



https://dl.doubtnut.com/l/_CoSoIAkDUMk9
https://dl.doubtnut.com/l/_qtpi1Q08XAXq
https://dl.doubtnut.com/l/_D0ewhYojIvAB

103. The length and breadth of a rectangle are

12cm and 5cm respectively, then its diagonal is

o Watch Video Solution

104. The perimeter of a square whose area is

o Watch Video Solution



https://dl.doubtnut.com/l/_D0ewhYojIvAB
https://dl.doubtnut.com/l/_cEZwsJYPKWkv
https://dl.doubtnut.com/l/_4iofx2GAtt40
https://dl.doubtnut.com/l/_38iUOxthDbp8

105. The area of a rectangle is 120cm?. If the

breadth is 6cm, then its length is.........

o Watch Video Solution

106. If the ratio between the length and
perimeter of a rectangular plot is 1:3, then the

ratio between the length and breadth of the

° Watch Video Solution



https://dl.doubtnut.com/l/_38iUOxthDbp8
https://dl.doubtnut.com/l/_Oyw8b98X2dPX

